[bookmark: _GoBack]Table A6. Piecewise constant exponential models on dropout from universities of applied sciences within first 8 years including fields of study

	
	Model 1
	Model 2
	Model 3
	Model 4
	Model 5
	Model 6

	Year 1
	-8.15
	-11.74
	-13.72+
	-13.67+
	-13.04+
	-12.95+

	
	[7.20]
	[7.37]
	[7.46]
	[7.50]
	[7.48]
	[7.51]

	Year 2
	-8.38
	-11.95
	-13.91+
	-13.87+
	-13.25+
	-13.16+

	
	[7.21]
	[7.37]
	[7.47]
	[7.50]
	[7.49]
	[7.52]

	Year 3–4
	-8.74
	-12.30+
	-14.26+
	-14.21+
	-13.80+
	-13.71+

	
	[7.22]
	[7.38]
	[7.47]
	[7.51]
	[7.50]
	[7.53]

	Year 5–8
	-8.04
	-11.66
	-13.64+
	-13.59+
	-13.05+
	-12.96+

	
	[7.23]
	[7.39]
	[7.48]
	[7.52]
	[7.51]
	[7.54]

	Women
	-0.23
	-0.12
	-0.13
	-0.13
	-0.12
	-0.12

	
	[0.23]
	[0.23]
	[0.23]
	[0.23]
	[0.23]
	[0.23]

	Entry year
	0.05
	0.13
	0.17
	0.17
	0.16
	0.15

	
	[0.16]
	[0.16]
	[0.17]
	[0.17]
	[0.17]
	[0.17]

	Entry year sq.
	-0.00
	-0.00
	-0.00
	-0.00
	-0.00
	-0.00

	
	[0.00]
	[0.00]
	[0.00]
	[0.00]
	[0.00]
	[0.00]

	General HE entrance certificate
	-0.28
	-0.46*
	-0.50*
	-0.49*
	-0.48*
	-0.48*

	
	[0.20]
	[0.20]
	[0.23]
	[0.23]
	[0.23]
	[0.23]

	Engineering
	ref.
	ref.
	ref.
	ref.
	ref.
	ref.

	Business science
	0.19
	0.13
	0.16
	0.17
	0.17
	0.17

	
	[0.27]
	[0.27]
	[0.28]
	[0.28]
	[0.29]
	[0.29]

	Social work/Pedagogics
	-0.34
	-0.40
	-0.40
	-0.40
	-0.41
	-0.42

	
	[0.35]
	[0.34]
	[0.34]
	[0.35]
	[0.34]
	[0.35]

	Other
	0.02
	0.07
	0.10
	0.10
	0.10
	0.10

	
	[0.24]
	[0.24]
	[0.24]
	[0.25]
	[0.25]
	[0.25]

	Parents: CASMIN 1a/1b/1c
	ref.
	ref.
	ref.
	ref.
	ref.
	ref.

	Parents: CASMIN 2a/2b
	-0.21
	-0.20
	-0.17
	-0.17
	-0.17
	-0.17

	
	[0.27]
	[0.27]
	[0.28]
	[0.28]
	[0.28]
	[0.28]

	Parents: CASMIN 2c
	0.23
	0.21
	0.32
	0.32
	0.32
	0.32

	
	[0.33]
	[0.33]
	[0.33]
	[0.33]
	[0.33]
	[0.33]

	Parents: CASMIN 3a/3b
	0.10
	0.01
	0.08
	0.09
	0.09
	0.09

	
	[0.25]
	[0.24]
	[0.25]
	[0.25]
	[0.25]
	[0.25]

	GPA of highest school certificate
	
	-0.90**
	-0.91**
	-0.91**
	
	

	
	
	[0.15]
	[0.15]
	[0.15]
	
	

	   in year 1
	
	
	
	
	-1.03**
	-1.02**

	
	
	
	
	
	[0.27]
	[0.27]

	   in year 2
	
	
	
	
	-1.07**
	-1.07**

	
	
	
	
	
	[0.31]
	[0.31]

	   in year 3–4
	
	
	
	
	-0.91**
	-0.91**

	
	
	
	
	
	[0.30]
	[0.30]

	   in year 5–8
	
	
	
	
	-0.52
	-0.52

	
	
	
	
	
	[0.34]
	[0.34]

	Age at enrolment
	
	
	
	0.00
	
	0.00

	
	
	
	
	[0.04]
	
	[0.04]

	Pathway 1
	
	
	ref.
	ref.
	ref.
	ref.

	Pathway 2
	
	
	0.10
	0.09
	
	

	
	
	
	[0.31]
	[0.33]
	
	

	   in year 1–2
	
	
	
	
	-0.10
	-0.12

	
	
	
	
	
	[0.40]
	[0.41]

	   in year 3–8
	
	
	
	
	0.34
	0.32

	
	
	
	
	
	[0.46]
	[0.48]

	Pathway 3
	
	
	0.74**
	0.75**
	
	

	
	
	
	[0.29]
	[0.29]
	
	

	   in year 1–2
	
	
	
	
	0.72*
	0.73*

	
	
	
	
	
	[0.36]
	[0.36]

	   in year 3–8
	
	
	
	
	0.72
	0.72

	
	
	
	
	
	[0.46]
	[0.46]

	Pathway 4
	
	
	0.02
	0.01
	
	

	
	
	
	[0.29]
	[0.30]
	
	

	   in year 1–2
	
	
	
	
	-0.23
	-0.24

	
	
	
	
	
	[0.36]
	[0.37]

	   in year 3–8
	
	
	
	
	0.32
	0.31

	
	
	
	
	
	[0.40]
	[0.41]


Standard errors in brackets.
+ p < 0.10, * p < 0.05, ** p < 0.01.
Source: NEPS SC6; own calculations.

Number of persons: 863; number of events (dropouts): 113.
Due to low numbers of events in each single time period, Models 5 and 6 include constraints for educational pathways indicating that the effect for the first year equals the effect for the second year and the effect for the third and fourth year equals the effect for the fifth to eighth year.


